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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 8,735

2. 12,163

3. 13,090

4. 10,457

5. 11,058

6. 4,313

7. 7,246

8. 11,329

9. 15,445

10. 9,634

11. 15,144

12. 5,493

13. 17,704

14. 14,208

15. 14,573

16. 6,813

17. 9,749

18. 7,426

19. 12,837

20. 9,525

Solve each problem.

1) 5,476 + 3,259 = 8,735

2) 6,308 + 5,855 = 12,163

3) 8,142 + 4,948 = 13,090

4) 6,092 + 4,365 = 10,457

5) 7,102 + 3,956 = 11,058

6) 2,392 + 1,921 = 4,313

7) 6,118 + 1,128 = 7,246

8) 7,995 + 3,334 = 11,329

9) 9,213 + 6,232 = 15,445

10) 6,821 + 2,813 = 9,634

11) 8,984 + 6,160 = 15,144

12) 3,807 + 1,686 = 5,493

13) 9,781 + 7,923 = 17,704

14) 7,287 + 6,921 = 14,208

15) 8,801 + 5,772 = 14,573

16) 4,699 + 2,114 = 6,813

17) 5,512 + 4,237 = 9,749

18) 4,553 + 2,873 = 7,426

19) 6,944 + 5,893 = 12,837

20) 5,121 + 4,404 = 9,525
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Modified

Solve each problem.

4,313 15,144 11,329 15,445

10,457 11,058 9,634 12,163

7,246 8,735 5,493 13,090

1) 5,476 + 3,259 = 8,735

2) 6,308 + 5,855 = 12,163

3) 8,142 + 4,948 = 13,090

4) 6,092 + 4,365 = 10,457

5) 7,102 + 3,956 = 11,058

6) 2,392 + 1,921 = 4,313

7) 6,118 + 1,128 = 7,246

8) 7,995 + 3,334 = 11,329

9) 9,213 + 6,232 = 15,445

10) 6,821 + 2,813 = 9,634

11) 8,984 + 6,160 = 15,144

12) 3,807 + 1,686 = 5,493

Answers

1. 8,735

2. 12,163

3. 13,090

4. 10,457

5. 11,058
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7. 7,246

8. 11,329

9. 15,445

10. 9,634

11. 15,144
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0


	Worksheet
	Answer Key
	Modified Worksheet

